DESIGNED FOR DOCTORS,
[ ] ENGINEERED BY INNOVATORS.

sl GMP

POWER FULL
CATALOG CATALOG

+1.815.363.8003 - info@powerdentalgroup.com
www.powerdentalgroup.com - www.mydentalusa.com




POWER FULCRUM
FORCePS KIT

POWER TWIST

ROOT RICK
Patent No. D700.3315/D700.329S

ELEVATOR KIT

Hlllll

4036-1 4036-2 4036-3 4036-4 4036-5 40366 4036-8
Luxation Power Apexo Selden Selden Selden 3rd Molar
STR Spade 301 34S 46 In 46R Out  Elevator

POWER PERIOSTEUM

ReLEASE KIT
Patent No. USD7003295/USD743550S

%A ( »

Code:
6455FS

E.ﬁﬁl
; 2
[=

7mm

{

64555 64565 6455 6456
Soft Tissue Soft Tissue Soft Tissue Soft Tissue

Brush Brush Brush Brush
Small Left Small Right Regular Left Regular Right

| | . | | 6511E
Tissue Suture
Corn Forceps
18cm
POWER CROWN Code: BN DR, IKIM HEADUIGHT
REMOVERS™ 1638 &

Patents No. D734, 852C

'.!.I "ll '.‘!! ki

"

4638-2
Crown 4636 4637
Remover (R) 2.0mm Diamond  2.0mm Diamond
Bur Gold (Spack) Bur Silver
For Regular (5pack)
Crowns For Zirconia

4638-1
Crown
Remover (L)

POWER FLAPRP
RETRACTORS

12mm

450,18

18mm

Full Control:
Change
brightness

of LED
quickly

A using dial
control.

Modular & Effective:
Easily switch loupes
inand out to

l“) accommodate

KIMV KIMS , clmdAN:
rocedur

Dr. Kim ErgoView Dr. Kim Headlight ﬁ egardiese

Headlight of depth.

| PERIOTOME KIT

POWER FLEX Code:

OpFID)
1930FSG
o

Patent No. D684.264S/D700.331S

1930-3G Screw Root Extraction S/E Non Flexmle

1930- 4G FPT-2 MesnaI/DlstéI D/E FIexane \

|
/—— —= sl ; ﬁmﬁ""‘r\/ 1930-35G 7821G
Screw Root Screw Root
1930-5G FPT-1 BuccaI/LlnguaI & Unlversal D/E Flexible Extraction Extraction
/ ) / Short Handle ~ Anchor For
N Non-Flexible) Handpiece
30-6G Twist D/E Flexible ( 30mm

(Non-Flexible)



POWER >XEXTRACTOR

FIXTURE REMOVER KIT

“ sk,wnkwl P j.m g Q

External  External
s SmaS omas omnis ol Regniar trbeensl e gen 5 51idt e
Fim'e Re&vur y ’ H.P y R.C Egt.
& ) ) &
) 4 y X 4 3
1.6/1.8 20/25

Fixture & Screw Remover Kit
N EEE—E .

7820-1B Carbide Bur 27.5mm x 2.2mm 7820-2 Root Anchor 34.5mm x 2.2mm

—

7820-2B Carbide Bur 27.5mm x 1.8mm  /820-2L Long Root Anchor 36.5mm x 2.2mm

POWER IMPLANT
GuUuIDeE KIT™

— saay g -
s L 4 e a,q

- ~y £ /F

o) ®) €y

C & LSINUSKIT: Code: Bl

CRESTAL & LATERAL UNIVERSAL KIT 7826

"

r—
ronen

% \
i
r— T Kies:,
N Powe
—t C&L Sinus Kit
8 Crestal & Lateral
o
1979-1 1979-2 1950-1 1950-1 1964N
Anterior Self Posterior Self ~ Multi 1 Implant Multi2 &3 Edentulous
Centering Guide Centering Guide Guide Implant Guide  Paralleling Guide

POWER
TORAUE DRIVVER

Torque Selector
Easy Torque Setting
(5-35Ncm)

Torque Handle Hole Pore §1.4 pilot Drill

Head: push Button Type

28mm

Remover Driver

20mm

Guided Bone Regeneration Kit

1981N-1 Screw 1.4x3mm  1pc 1981N-12 Screw 1.6x12mm 1pc S2mmm ‘

1981N-2 Screw L4x4mm  1pc  1981N-13 Screw 2.0x6mm  1pc

1981N-3 Screw 1.4xémm  3pcs  1981N-14 Screw 2.0x8mm  1pc

1981N-4 Screw 1.4x8mm  3pcs  1981IN-15 Screw 2.0x10mm  1pc

1981N-5 Screw 1.4x10mm 2pcs  1981N-16 Screw 2.0x12mm 1pc
Drivers (1.2mm) Head can be separated from body for sterilization. 1981N-6 Screw 1.4x12mm lpc  198IN-M Titanium Mesh 36x22x0.1mm 1pc

1981N-7 Screw 1.6x3mm  1lpc 1981N-D Fix Screw Pilot Drill 1.2mm 1pc
Short: 23.5mm L ——Sede 1981N-8 Screw 1.6x4mm 1pc  1981N-20 Screw Driver Short (Handpiece) 1pc

1981N-9 Screw 1.6x6mm 2pcs  1981N-21 Screw Driver Long (Hand Driver) 1pc
Long; 30mm -—-E 1981N-10 Screw 1.6x8mm  2pcs 1981N-22 Screw Driver Handle 1pc

1981N-11 Screw 1.6x10mm 1pc

BLACK EDITION Code:
PROBE SET 1151

POWER SURGICAL Code: [E33iE
CURETTES

/ B

4101SE 84S 2.2mm +5%

[IPoWER

4102SE 85S 2.8mm +5%

(0 [===c]
FIPOWER

1151-2B EXP23/UNCL5 / N
;

’ FIPowER /
1151-3B UNC15/CP12

4103ASE 86AS Off Angle 3.3mm +5%




ATRAUMATIC
EXTRACTION FORCeEPS

(S Ny

4-“/.\

\

N

FLEX PDL ELEVATOR
GouLD SET Patent No. D7003315/D700329S

Code:

P = s —

FEoweR

i

3799-13mmSTR Gold Tip

o a‘mn‘m
-\-QMW .

3799-2 3mm CVD Gold Tip

Stz

8 &
) ‘j — / i\-u. -—
\ Y 4
! ‘A A ~ i A | 3799-3 Spade STR Gold Tip
4974p 4975P 4976P 4977pP 4979p 4980CP ~— T e, e
Upper Lower Upper Lower Upper Lower e S ks s e ’
Premolar Premolar  Anterior Anterior Molars Molars 3799-4 Dlstal SmaII Gold Tip
3799-5 MeS|aI SmaII Gold T|p
/: ) " o -, fEowes =
. S — pr% «««««« s i
3799-6 D|sta| Large Gold T|p
——— T e
—= e =
3799 7 Mesial Large GoIH'Tp
POWER TWIST Code: BEHEE | = EX ELEVATOR SET
Patent No. D700331S / D700329S 4032 ;'1-
W -, ==
h
¢§§EEE£§EE§F"“““WQQ;E *AE,.H'L 1
Periotome Handle TN
\ Ey) 'x‘
1 [
3894G 3895G 3896G 3897G 4023 4024
Power Twist Power Twist ~ Power Twist Power Twist ~ Power Twist Power
Periotome  Periotome Periotome Periotome Elevator Twist
4mm STR-L  4mm STR-R 4mm CVD-L 4mm CVD-R  3mm STR-L Elevator L
_ 3mm STR-R 4034-1 4034-4 4034-2 4034-3 4034-5 4034-6
R g —" Apexo 301  Seldin 34S  Apexo 301 Apexo 301 E77 IN E77 OUT
@f%—-—-«nﬂ M - STR2.9mm STR4.0mm IN2.9mm OUT 2.9mm 4.0mm 4.0mm
— . ’ 3 Gold Tip Gold Tip Gold Tip Gold Tip Gold Tip Gold Tip
Elevator Handle N
POWER CENTRIFUGE Code: EIEE = _E=>< LUXATION SET
MASTER I 7824N EE Patent No. USD700331S/USD700329S
[=]
e Ten automatic programs and
RPMs for each application
e Simple navigation
- Select program ‘ k\i
- Rotate dial |
- Press dial
e Optimal and stable temperature ‘
e Patented
4035-1 4035-2 4035-3 4035-4 4035-5 4035-6
STR2.5mm CVD2.5mm STR3.5mm CVD3.5mm STR4.5mm CVD4.5mm
Sold Separately Gold Tip Gold Tip Gold Tip Gold Tip Gold Tip Gold Tip
LT | | BLACK EDITION Code: [#z
== .. |SCALER SET 1250T 3
i e 1201BT H6/7
. 2035']' Bone Cerrler ¢ D 7824-2 7824-3 1203BT H5/33
2094 Bone Mixing Bow! 100 1bomL I]I;OR?: :Il_[')ml'-d
. [ o Membrane - qui
S~ e ~ 1208BT 204S
“ b
’ B 1415BT COL4R/4L
s ., W,
. Sy B - =
_§D 7425 Bone Tray =5 :7- / L1657 COLI3/ 1T
5907S Super Cut, Dean 16.5cm “N%
® ; 1601BT GR1,
e ——— | _mem
6506 Tissue Forceps 7824-5 Latex Free 1606BT GR11/12
Tourniquet

......... e -
6834 PRF Carrier

7824-4 Safety Butterfly Needle Set

1607BT GR13/14




